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Fast Module Reduction Algorithm over GF(2™)

DUAN Bin, MA Zi-tang
(Institute of Electronic Technology, PLA Information Engineering University, Zhengzhou 450004)

Abstract Aiming at the problem of the module reduction operation, this paper proposes a fast algorithm based on Fixed Trinomial Or
Pentanomial (FTOP) algorithm over GF(2™). By dynamically counting the index and offset of grouping words, the proposed algorithm overcomes the
disadvantage of FTOP that of only available for fixed reduction polynomial, the proposed algorithm is faster than the one-time-one-bit algorithm
when reduction polynomial has less terms of 123(m<719), maximum 89%, average about 30%, and with arbitrary trinomial or petanomial, it has the

same speed as the FTOP’s.
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